
ОТБОРОЧНЫЙ ТУР

КТО ХОЧЕТ СТАТЬ 
МИЛЛИОНЕРОМ ЗНАНИЙ



Расположите в порядке 
возрастания меры длины:

•А) Вершок
•Б) Сажень
•В) Аршин
•Г) Дюйм



ПРАВИЛЬНО:

•Г) 1 дюйм = 2,540 см

•А) 1 вершок = 4,445 см

•В) 1 аршин = 71,12 см

•Б) 1 сажень = 213,4 см



ОТБОРОЧНЫЙ ТУР

КТО ХОЧЕТ СТАТЬ 
МИЛЛИОНЕРОМ ЗНАНИЙ



Расположите в порядке 
возрастания меры веса:

•А) Лот
•Б) Пуд
•В) Золотник
•Г) Фут



ПРАВИЛЬНО:

•В) 1 золотник = 4,266 г
•А) 1 лот = 12,8 г
•Г) 1 фут = 409,52 г
•Б) 1 пуд = 16,38 кг = 
16380 г


